T o L | L ) o | 0 <
1/16" Chamfer
10 o 1 All Around
2
| TRUCK BODY
3.
" Drill and Chamfer 076 Ref
2
| for #6 Flat Head A AXLE HOLE ADAPTOR
—~ Wood Screw
Oy = ) M e & IR 1/4" NUT
J n N ADAPTOR
9 y Oﬁ” Ref
1% 61" 1/4" CUT WASHER SIGHT HOLE
gase front view Base Right view CARRIAGE BOLT KNOB
cale: . Scale: 1:2
%03 1/16" Chamfer PIVOT STOP
8 R 1 1r /All Around
4 _
1. BASE
DOy Typ \\\(// 03 CENTER PIVOT POST
\ 4 |
5" I D05
g” 32
24 I Assembly Isometric vi
1. ssembly Isometric view
0z Typ—= 3:132” Typ Scale: 1:2 UPRIGHT
3.
Og
1
e o 1 1
3 Ln @ 04" Sight Hole T.H.S.
5 1., S Drill and C'Sink 2 4 Trim Nail
2 For #6 Wood Screw X @ 3
0 7!!
Upright Front view Upright Right view H 32
Scale: 1:2 Scale: 1:2 =z ,
4 T § 3
4
1, = "
65 L = 1
03 1 2 3. =
4 0y sotr TV 0%
4 03 5ol DRILL & TAP \
4 L 1 4 1/4 X 20 UNC
B N | \< ] I | B Axle Hole Adaptor Front view L=
I | ___C _ _ _ _ _ _ _ _ _ i | I gvv _ | 3 3
B ———°C ) \% 04 ] 3 Scale: 1:1 , ‘
| ol ‘ \
1. | ol \—
1. 4 1.
polr g1 sol. 00§ Ref 07
4 Center Pivot Post Right view 1 0 7 . Axle Hole Adaptor Isometric view
Designed for MWG Toy Program . . .
This dimension may need to increase Scale: 1:1 16 Scale:
for longer wheel base toys Axle Hole Adaptor Bottom view
Center Pivot Post Front view Scale: 1:1
Scale: 1:1
3 MATERIAL LIST
8 1/32" Chamfer Component Description N:mb?z Size Material Should the user wish to increase throughput,
eq . .
ALl Around Base T 10" x 4 x 12" Birch Ply Multlple fixtures may be constr‘ugted
3. ~——Tog~ Upright 5 |5 x2-1/2" x 3/8° Birch Ply Opt: increase length of Center Pivot Post and Base
16
N Center Pivot Post 1 6-1/2" x 3/4" x 1/2" Pine This drawing is our property. _
|,| Pivot Stop 5 |1/4" Dia. x 2" Long Birch Dowel It can't be reproduced Ken Wolf Design
A 2-7/8" x 7/16" Square i our written agreement.
LOSJ ﬁXlE roe AdpRor 2 1-1/2" bia x 1-3/8 Eiasi%c DRAWN BY DATE PRAIING TITLE
no - - astic . : :
%) O%” & 0%” Carriage Bolt 2 1/4" Dia. x 1-1/2" Long |Steel D R McCagg 1MAR2021 Toy BOdy Palntlng Fixture
) o%' Cut Washer 5 |1/4" Steel CHECKED BY DATE SIZE [DRAWING NUMBER REV
Knob Eront view Knob Right view 1/4 x 20 Nut 5 1/4" x 20 Steel CDII;ISUI(éIl\TEDAQYdPeWS ;};l\fll/_xézom C Toy Body Painting Fixture 2-17-21 B
Scale: 1:1 Scale: 1:1 T. H. S. Trim Nail 2 2-1/2" Long Steel D R McCagg 1mAR2021 | SCALE: Sﬁiwn WEIGHT (kg),243.08 SHEET 1/1
| ] ] ] ] ] ] ] ] ] ] ] ] ] ] ] ] ] |
H G | 03 — =i ! ! ! | A




